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Polysep II

Polysep II( )

• 1.0 µm/0.2 µm/0.1 µm

• 1.0  µm/0.2 µm

• 1.0  µm/0.5 µm

• 1.0  µm/1.2 µm

• 2.0  µm/1.2 µm

• OptiScale
• Opticap XL and XLT 
• 
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G = Polysep™ II

G = Polysep™ II

G = Polysep™ II

W1 = 1.0 µm/0.2 µm/0.1 µm 
W3 = 1.0 µm/0.2 µm
W6 = 1.0 µm/0.5 µm 
W2 = 1.0 µm/1.2 µm 
W9 = 2.0 µm/1.2 µm

W1 = 1.0 µm/0.2 µm/0.1 µm 
W3 = 1.0 µm/0.2 µm
W6 = 1.0 µm/0.5 µm 
W2 = 1.0 µm/1.2 µm 
W9 = 2.0 µm/1.2 µm

W1 = 1.0 µm/0.2 µm/0.1 µm
 ( Opticap® XL 5 XL 10 ) 
W3 = 1.0 µm/0.2 µm
W6 = 1.0 µm/0.5 µm 
W2 = 1.0 µm/1.2 µm 
W9 = 2.0 µm/1.2 µm

02 = Opticap® XL 2
04 = Opticap® XL 4
05 = Opticap® XL 5
10 = Opticap® XL 10

1 = Opticap® XLT 10
2 = Opticap® XLT 20
3 = Opticap® XLT 30

HH = 6 mm (¼ in.) 
FF = 19 mm (¾ in.)         
FH = 19 mm (¾ in.)  

6 mm (¼ in.) 

TT = 38 mm (1½ in.)          
FF = 19 mm (¾ in.)          
HH = 14 mm (9/16 in.) 
FH = 19 mm (¾ in.)   

14 mm (9/16 in.)  ( 2 4)

TT = 38 mm (1½ in.)  
HH = 14 mm (9/16 in.) 
TH = 38 mm (1½ in.)  
        16 mm (5/8 in.) 
BB = 25 mm (1 in.) 

3 = 3 /

1 = 1 /

1 = 1 /  (5  10)
3 = 3 /  (2 4)
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Opticap® XL 

Opticap® XLT 

Polysep™ II 

242



G = Polysep™ II

06 = 6 /
W1 = 1.0 µm/0.2 µm/0.1 µm 
W3 = 1.0 µm/0.2 µm
W6 = 1.0 µm/0.5 µm 
W2 = 1.0 µm/1.2 µm 
W9 = 2.0 µm/1.2 µm

1 = 10
2 = 20
3 = 30
4 = 40
4 = 4  ( M N )

O = (2-222) O
5 = (2-222) O
7 = (2-226) O        
F = 
M = (2-118) O  ( 4 in. ) 
N = (2-226) O  ( 4 in. )

S =  ( )
E = 
      ( )
V =  ( )
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